& Paclasalai’s

weoo lelegram Groups!

( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )

e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC



https://t.me/joinchat/NIfCqVRBNj9hhV4wu6_NqA
https://t.me/padasalaichannel
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw
https://t.me/Padasalai_12th
https://t.me/Padasalai_11th
https://t.me/Padasalai_10th
https://t.me/Padasalai_9th
https://t.me/Padasalai_6to8
https://t.me/Padasalai_1to5
https://t.me/Padasalai_TET
https://t.me/Padasalai_PGTRB
https://t.me/Padasalai_TNPSC

www.Padasalai.Net - www.TrbTnpsc.com

5 2310040

No. of Printed Pages : 15

UQ@JWWLMQ R|1A[0 &Q‘

Register Number

M&M]|HW\1W|M1|‘HHIHIH\IIMI||"N|IHYIH!IH M i

o uiflwev / BIOLOGY

(8D whmid @phidle el / Tamil & English Version)

ST 6Ta] : 3.00 wewtl CHFLD ] [ Qurss wHLGLETEET : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

oMejenrast : (1) Smasg camss@ph &ilurs udeurdl 2 ETeTHT 6T e LIS em e
sAuTT$gs Qararerab. iFaLLgeiie GGl simné
samsrafiliurerALb 2 Lenqwrss Qsflailésa|.

2) Beod Sdag &mUY @wulloar GG  TWEeuUSH G
<Ny 5CaM Heugh@h LwaLhSS Couam(HLb. LILTBIFET cuamieusDE
Quenéled LweLI(H&SaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

\  (2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@MY : u@;f,] 1 (2l@f-graupedwe), uGH-I (2Wfl-aobmddud) sailssel
lerLggmafledr eflenL_wiafl&ee, .

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer books.

L@ -1 (2_udfl - greurelwed) / PART - I (BIO - BOTANY)
(gli@uarser : 35) / (Marks : 35)
19fley - 1 / SECTION - 1
GOy : ()  Siemensg edemssEns@n elaLwafléseayb. 8x1=8
(i) Qer@ésuul(@erer wrpm elevLselled Wsabd ghHymLW
eoLows Csidshsss GMISLHLer oL wiamanyb Carsgl

CT(PSELD.
Note : (i)  Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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3427 (NS) 2
1. Bewr@o @LibQuurtg seflbb ergl ?

(1) empBLree | (<=p,) UTEOUITEV

(@) CQurlLrflub () &re&wid

The element which is not remobilized :

(a) Nitrogen (b) Phosphorous

(c) Potassium (d) Calcium

Spsaam_cuphenn LigSSl sflwrer e CsrbEsHEsa]LWD.

2.
(i) er&evmis cramiuBeug QulLrasassnE dealGu LGCrmGLrensed
<SG LDBHGICTETS)
(i) erewrLmid eraril@oug) UGrmlGLreasen mwusams Crré&d
S| HLOHGIETETS)
(iii) Ceemlmird erariu@eug LUGTTL GLrenssshE phH6ile QoL L Tengeuld
SO HIETATS)
(v) WBevrrs eremiuBeugl Qi Lrasasdne Bheld LGrmGLramsaw
SA@LOpFIETETS] |
(1) (), (i) pp (v) LG (<) 6) @) whpid (@) 0B
(@) (i), (i) LOLID (iv) LW () @evau SiMENSIID
Read the following sentences and identify the correctly matched sentences.
(i) Inexarch condition the protoxylem lies outside of metaxylem.
(i) In endarch condition the protoxylem lies towards the centre.
(i) In centrarch condition the metaxylem lies in the middle of protoxylem.
(iv) In mesarch condition protoxylem lies in the middle of metaxylem.
(@) (@) (i) and (iv) only ®) (), (i) and (iii) only
(c) (ii), (ifi) and (iv) only (d) All of these
B
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YaruGb srarmsaied add sés Quori@ (PLsams o (mLOTH DD
QuuEpg! ?
(=0 QABES () e
(@) AeorsTbBlon () p&avrellad
Axillary bud is modified into thorns in :
(a) Bambusa | (®) Citrus

(c) Chrysanthemum (d) Oxalis

Qb GO @Qa&6T CsmenL. Gmsea L 1d Glouaur) Sjepdslu@D
(=) LOGDS GO® GRS (<) Qe Go& Goa GRS
(®) oGRS @ena GOSN (7) Gupsadlu ér516 0@

Gynoecium with united carpel is termed as :
(a) syncarpous (b) apocarpous

() multicarpellary (d) none qf the above

rrAfey sraund @rdu Cablis srair sheHanwé Qarem g?

(1) <G5 CUTELGEILITDSET (<) QLAGLT eoLIL&ET

(@) WeryGuimsoanLIL &6 (rF) g\m@mm@umm

Which of the plant group has gametophyte as a dominant phase ?

(a) Angiosperms (b) Pteridophytes

(c) Bryophytes (d) Gymnosperms

B [ Hriys / Turn over
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6. SpssavL uLsdHeer 2 pmCHTES sAurer eNenLepi GairholsH&sab.
A
B
C

@ A Buwppid C gan® meflfern aflavGLGsmen wyetb.

(i) A Gu@eoer sfismer 2 (harsEins

(i) B - umenilenl 2 (HeUTSGSH D)

iv) C- ynsGarera 2 (HaursEHng

(1) (iif) LHOID (iv) LG (<) () wHMD (i) G
(@) (i) woHmd (i) (b () () whmud (i) G0

Refer to the given figure and select the correct statement.
A
B
C

(i) A, Band C are histogen of shoot apex
(i) A gives rise to medullary rays

(i) B gives rise to cortex

(iv) C gives rise to epidermis

(a) (iii) and (iv) only : (b) (i) and (ii) only
(c) (i) and (iii) only : (d) (i) and (iii) only
7. yGyrlGLmierresems (pEeD> (g)g;a)rra; 5WL@5§QJW
(1) anmiig <) abGaraurenGLomed
(@) &g (rr) an&e &l
Protoplasm was first observed by :
(a) Hardy (b) Hugovanmohl
(c)..  Corti (d) Huxley

8. Qe sppdluien sfwran auflans :

(24) M-G-G,-5 (=)S-M-G; -Gy
(@) S'GI'GZ"M i (F[') Gl'S‘Gz'M
The correct sequence in cell cycle is :
(@@ M-G-G,-S S—M-G1—62
() S5-G;-G,-M (d) G1—S—G2-M
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\9fey - 2 / SECTION - 2

Goluy : 6'76"0'JQJGuJ@_|1h THT65T(& eflamda e ellenLwafllEsaL. eQleurm eraRT 14 -8
sLLnmuwre el el&seib. 4x2=8

Note : Answer any four questions. Question No. 14 is compulsory.

9. Aeer GLmilwm QLiCaref wrelen Csayd @ram® weai L6 S@aT
AeTEGS- .

Give any two floral characteristics of Clitoria ternatea.

10. Bflwe Hman s SL_OLUUOSHID sEmnser wreme ? |

What are the parameters which control water potential ?

11. 2 (HLTHILD SETELD GTEMITE) ETeuren ?

What is plasticity ?

12. EMP ailfl55L 586 Lme LAl & e oHmD Lo GuL. BEsd pE U
Sanarseile FHLEOL AprEsmar orpsie-
What are the enzymes iny'olved in phosphorylation and dephoéphorylaﬁon reactions

in EMP pathway ?

13.  coes@sansafer @urrg,jl;; LIGHTL|SEET 6T(pIS:

Give general account on Lichens.

14. LDQerdGLTEV 6D Grsiﬂg)rreb “6'1'6"6[615T ? Gl 6T @§@é555"‘;® &(HS-

What is plectostele ? Give an example.
[ SlpLine / Turn Over
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9fley - 3 / SECTION - 3

GPILY : erensuCuignibd epebmm oflanmésenée eflenL_wiaflésayib. efem oreim 19 -8

sLLmwuons efleLweféseywb. 3x3=9
X =

Note : Answer any three questions. Question No. 19 is compulsory.

15.

16.

17.

18.

19.

|B

eanidsvsen Crrerameananaliay waflar amruLLd aiarbE LOT GESTHmS

CT(PSIS.

Draw the floral diagram and write the floral formula of Hibiscus rosasinensis.

@@ wrsda En&GAu (s Carpnsde sremiuBb CUTEH bW
GUENGTILIEIGET GUATITES cueneTWmIGET ererliL (DG UaTTES GUENET IR &ET
GTEUGUTT) 2 (HeUTSHlenmen ? iHen (psHwggieud wrg ?

A transverse section of the trunk of a tree shows concentric rings which are known as
growth rings. How are these rings formed ? What is the significance of these rings ?

DNA -cflerr SflpUillwedger wrenel ?

Write the characterisﬁc features of DNA.

Nerii@ QFDGERSEGLD, ST QeasErsED 2-dter Gamurser wrenel ?

Write the differences between plant cell and animal cell.

alsCarsmsuden gGCaed AP PEALISFUSDS CT(PEIS.

Write any three significance of photosynthesis.
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Wifley - 4 / SECTION - 4
2x5=10

P : PSS cfammss(enéEh ofleLwalbsalb.

Note : Answer all the questions.

20. (1) Gwradlyrefar Sy ue&ﬂqasémrr (LS.
360605
(<) el rélev, WOwurden Gaupium_enL eflaréGs.
(a) Write the distinguishing features of Monera.
- OR

(b)  Differentiate between Mitosis and Meiosis.

21. (=) <58 Gurev QUIrb seflam L& &l uy e gmiid o arapl L (e uilmar
cleuM&saLD. ‘

S|6V6V5
(<=,) edliredla @Jr@aﬁlﬂjeb alenaTay&eT Wrenel ?
(a) Explain the insectivorous mode of nutrition in angiosperm.
OR

(b)  Write the physiological effects of Gibberellin.

B [ SLiys / Turn over
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UGS < IT (2uqf - aﬁlm@eﬁlmm)/mm- 11 (BIO - ZOOLOGY)
(wdluGueaer : 35) / (Marks : 35)
: | : Sifley -1 / SECTION - 1
Gl : (1) |MSI| NATESHEFHGD ellenL_wefl&sawb.
(i) Sﬂ&ﬁ@&i&L‘ll_]L@.\.dTﬂT wrom el selld WHseb eghyeL
e Cs 050656 GO GLar elamulamanuybd GCarss)
i SHABPELD,
Note : (i) Answer all the questions.

i) C i
(ii) Wl;-ciost; the most appropriate answer from the given four alternatives and
ite the option code and the corresponding answer.

1. a?@ésaas&m% @Jrré;'aﬁ]u_lré.w;emm LigsE #flurer uHoa saTHLYSS TRSIS:
(1) <6t 85.'TU1.—IWGN‘5&éﬂuS]6b epanm &1L EmETE QaTaTL @i )6 e
Apsanisar 4 - 6 auldmé 6L &ailen LESMTL_ 196 LEESSHDG

8x1=8

GRETDITE 2_GITETE.
i) srermear eugeus &g/l A@ert sy o6 SILILITE
@emIQLBES aTLSSIL6T QenenThs G(H Quilw gaen GeaTklLmSS
- SrUSwrELD. |
Querr srluraLFf@d @i @eman i@ shsd 2 - 6 s\ Hm &
saTLtisallen Lssarigd LESESHDEG s o _GTEITET. |
(iv) Quam syiurer Lo parE Amass @f Geen @ 6u T &) D &
QaraGal flwe srlidser SiaEnLssHar auESuc 2 areng).
=) eursSwimbiger (i), (i) wpmid (iv) s fiuea saum, HCHELWID (i) gifl
CLoCes 2 GT6T SIMESE] eUTSE LBISEBLD &l
(@) CuGe 2 6TeT APASF) QTGS ILIRIE@EHD S0l
(FF) aursdwiisar (i), (i) opoid (i) pHwenel &, <IGggwwid (i) Heum

Read the following statements and choose the correct option.
(i) A pair of 3-lobed testes lies on the lateral side of the Ath to 6th abdominal segment

in male cockroach.
(ii) Mushroom/ Utricular g

%béé]uﬁlém
(ii)
(

(<)

land is a large accessory reproductive gland in male

cockroach. T )

(i) A pair of ovaries lies laterally in the ond to 6th abdominal segment in female
cockroach. '

hed collaterial glands are present behind the ovaries in

(iv) A pair of white and branc
female cockroach.

(a) Statements (i), (ii) and (iv

)  All the above statements are true

(c) All the above statements are false

(d) Statements (i), (i) and (iv) are true,

) are false, whereas (iii) is true

whereas (iii) is false

Kindly Send Your Study Materials & Answer Keys to Our Email ID - p%@ﬁgmg%W@&r%m%anner

Tt e


https://www.padasalai.net/
https://www.padasalai.net/

BELd e = 3 i ammre i i bl el S

2.

www.Padasalai.Net www.TrbTnpsc.com

e 3427 (NS)!

AUMBSES :

1) urrrengrmi® enriGuomen () olgeaiiear Cpmi
(2) GESCHTEMTLETUR apriGorer (i)  aTLas SPae
3) eosrrEedlen @rrr'rC‘éLorrei}r (i) Qe

(4) m@&é@ anrrGLome (iv) <&Crr@sTe
(1) (-G, (-6, @), (@6 ‘

() (-, @)-Gv), @G, @0

(@) -9, @), @16, @)

(%) (040, @G, 669, 66

Match the foﬂb%virig L g

(1) Parathyroidyhormohox-: | @ Addisox‘x’s.disease
(2) Glucocorticoid hormone ‘ (i) Endemic goitre
(3) Thyroxiﬁe : hormone : : (‘iii)‘ Tetany

(4) Growth ho;oione (ivl). I‘Acroxto_egaly

@ -G, @0, G-, 66
B, Q-6 BH), @0

O ), @ @6, @

@ (U-(), @)-(), B)-(v), @-1)
[ Hmliys / Turn over
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3. &Cp Qer@ssiulL aumslurl (s smellgafled seupTar e D
CsihOlsHéseaLb.

(<) DN.A-aEﬂs'u e-aram SApUy Siebliysmer wiflhe) @UAHeuger epeid
jau eyl flenw emL wrerd sTarug DNA -asCrens Qsmifled
BIL_LILDTGLD.

(<) @Q:)QJG?LD LHDID Geupmienoami ol (1L wrss QETarT(h) HIreurmni&Gefr
pmibd Mok Gsmer s@TLBwu  euamas url®  SloeyCamed ser
LweruB&l mg.

(8) uUsLLBSE @eaussiul L grour wHmw efleom@Gsalar CgrELliy
2 ullflwed eimrisT Swid eraruL(M&pgl. Qg wrunmt Gurer wHmID
2 WSl@Ler o arer wrHf euflurs o ulferriisemar updl Sidlw 2 geydlmg).

4(F‘F) waflg Cuhurrea e Qubeamswrer GuHamouled sri
cllomGaamer meusHHisen eNamdued LkisTaseT eramiLi@ib,

- Which of the following is an incorrect taxonomical tool ?

(a) DNA- Fingerprinﬁng - To identify an individual from a sample of DNA by looking
at unique patterns in their DNA.

(b) Taxonomical keys are used to identify plants and animals based on similarities
~ and dissimilarities.

(c) A Museum has a collection of preserved plants and animals of extinct and living
organisms, which can be studied.

(d) Zoological parks - Wild animals are kept in natural environment without
human care.

B
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Gereumb ULGHe o drer .urra')rﬁj ' i .
, LA ‘ sl ey g@s@bY AprupTs AT
wpsi0sgbAgyer LIHEH QeiiutiLEEDs ?

@) GHEHD ProY G
@ GyEpT

L@ s %m_gegggrre&mm_u 19 are &6l
SN ()4 (@) 3 (m) 1

Which of the following structure leads to the formation of vertebral column of adult
vertebrates ?

Dorsail hollov(; nerve cord
(2) Notochord

g @ Pharyngeal slits
: @Muscle Segments

@ 2t B © 3 @ 1

weflg semantie gl Gl&mgjaﬂmm gfluren LTS :

) a;rrrrmﬂu_lrr o G\a)amm - sErmsgar - alfsslor
rrrrmﬂu_lrr - a;@gasqmrr s (e ST Sleud — Qevarey — eNfSSenT

@) smenflum - - Geuemm 5 (pern s Syeud — Afs Sy

(=
()&
(
( Teuld — Qe — aﬁ\@g;g_ﬁ,\smu

rr) giremflum — (P& asem 8

The right path of light in our eyeis:

(a) Cornea — Lens — Con]unctwa —» Retina

(b) Cornea — Conjunctiva — Aqueous humor — Lens — Retina

(c) Cornea —> Lens — Aqueous humor = Retina

(d) Cornea — Aqueous humor — Lens = Retina

[ Hpriys / Turn over
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6. SpeummeueTaupmIET Seunrer GaaTEILS SIS,

(<) &Lt Qgsar - LOGHTL|(Lp&&eT
(<) L&ems sTCIse6T - @présdr

(8) QereGearransy (e SRR N1 A [T : 32 1o
() wrodguer guosdr - uFdser

Find out the wrong pair from the following.

(@) Flame cells - Earthworms

(b)  Green glands - Prawns

(c)  Solenocytes - Amphioxus

(d) Malpighian tubules Insects

7. £%Qasasaf'm_ euTsSlwiisamer Ligsg #flurar ufme Csib0sHESLD.
Q-QJ:Q&"G‘“@QJ (A)  : Cuarge erildedlwn Cleuedlli@ummertle Bg eruGume
GLhs SLisSwurer Créfl erayd Qurmerer ASTLTHS
srédleammg. srouCursded sroflwb sriuGarl L
SADEGHATES GrHg 2 ndwre LeTUeTIUTE (PSS
2 (Heum&sLLhdlemmg).
&yeseid (R) : psder uEHLQuIr@LserTs 2 - 4% B LHmD 90%
, STl srruCar o 6TeTg).
(=) eursdlwid (A) seum g ammed eursSwid (R) &fl.
(<) eumgfwib (A) wpmid (R) @ram@d #f Cogib (R) -<pagl (A) -cllpsmen
gflwumrer edleméaLTEGLD.
(@) eursdwib (A) wHmID (R) GremBid &l yama (R) -<ghams) (A) -efpamen
sflwren edlerésbd Baene. k
(FF) eursSwibd (A) &l Spammed eUTESWD (R) Seumi.
Read the following statements and choose the correct option.
Assertion (A) : Nacre is secreted continuously by the epithelial layer of the mantle

deposited around the foreign particle and over a period of time the
formation of repeated layer of calcium carbonate makes the hard and

“glossy pearl. |
Reason (R) :  The pearl comprises of 2 - 4% water and 90%
(a) Statement (A) is incorrect but statement (R) is correct.
(b) Both statements (A) and (R) are correct and (R) is the correct explanation to (A).
(c) Both statements (A) and (R) are correct but (R) is not the correct explanation

to (A).
(d) Statement (A)

calcium carbonate.

is correct but statement (R) is incorrect.

8. @réssSlen epaLd gjemguﬁfj@éS@# Qs STTLET-L -AS@elqen Hlene :
(=1) STTUTESE) afCor@Gearmiar  (<2b) FTTLUTENE SLleLd
(@) <58 afCuorGarmier () smuliGenr afCGlomEGermer

CO, is transported through blood to lungs as : I
(a) Carboxy haemoglobin (b) Carbonic acid .
(c) Oxy haemoglobin (d) Carbamino haemoglobin
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9fley - 2 / SECTION - 2

SLLmuwns eflenweflgeseyi. 4x2=8

Note : Answer any 4 of questions. Question No. 14 is compulsory.

10.

11.

12.

13.

14.

&GIrireven dleanGemuev-g erem Brb ‘pefar euands LT iy wiedlen shHemg’ eren
SADWP&EHCoTd ?

Why do we call Carolus Linnaeus as the ‘Father of modern taxonomy’ ?

LG L (9 & Senar 1o aior el i DsGseNd aurpllLsms SlgliumLUTES
Qéﬁm""r@, 2 FTTMSSIL6 UMSLILIHSSIS.

Classify the earthworms based on their ecological strategies with example.

wailg oeame warLafded Wareumb QuT@mLser by UGS Ul
2 Hlgraé CsrareriiLBdng) ?

() B, Ao safllwrisd, wHmb S wmbsse

(i) eraflu &T&SmT LHMLD OSADTED

In which part of the digestive system, absorption of following substances take place ?
(i) Water, some minerals and certain drugs.

(ii)  Simple sugar and alcohol.

@S’ééés Q&TETETETE| GTeT DTG Gremen ? @enel 6Teu eurm) @g,mg@q;ﬁ]@ﬁ,@
QeuafiGumid Grds iere|Lcm QarLiyenLwig ?

What is stroke volume ? What is its relation with cardiac output ?

@@L@ﬂqmmﬂ eraniL(eug) 6Tgl ? GTET Sjcleumm) SoW&sUILMHS DG ?
What is meant by blind spot ? Why is it called so ?

geallliumliL HMmILD dumrrf[q.&réJ QenL_Gwi 2 éer GCoumuir(® wirg) ?

Differentiate nuptial flight and swarming.

[ S®Liys / Turn over
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Yifley - 3 / SECTION - 3
e 19 -5

GO : TeeuGgd 3 eflarrés@EpsE oflen_wellésab. efanm 6

SL_L_muions eflenLwiefl&geyLb. 322
Note : Answer any 3 questions. Question No. 19 is compulsory.
15.  euempwigy : (i) gCarfCarGLl_Haer

16.

17.

18.

19.

()  erenm CrrEGarCGul Hadr
Define: (i)  Schizocoelomates

(i) Enterocoelomates

@R Bufler o wirb 180 QF.18. jeui o 1_aSler erenL_ 80 .4, ieufer &1_61) GTEmL
GO enL& sarLBlbs el sTHTreRTOTETALT DG LIBLDGTTETaUITIT GTEnd
SIS

A person’s height is 180 cm. His body weight is 80 kg. Find out BMI and tell him
whether he is normal or obese.

S sadlmen UGH AWPSSD Gapeurs 2 arer GLEiGeaNd eurpd BHuifle
2 L efled Blspd wrHhphsamersd GHUHs.
Mention the changes that occur in a person’s body who lives in low partial oxygen

pressure.

Q@b U sMiFFTe) Seuglil(Hé Gl & mewr (b @J@éﬂmrrr;r. el LD(HSSICUET
Slami @b Curgl Sbwmsgar QrsssGergaman wrdlfl erOég el mwmm
<ifleje@r aphGapri. s&Gsrgmar SPlsmasllld Qrss Ceuerenar-
wemissehen eramanfléans Hlaa eraneareurs QHEEGD ? crem ?

A person suffering from fever is advised to take blood test. What may happen to his
WBC count and why ?

BT & @ smwal (2lflue sgsrrn) Lenil @ emer Gom @ asmer emLb
sronQuler QuUwT eremer ? QST Blb 2 L elle e GaTerg D Mt
oFsrU9u9er srliy Curmear wrgl ?
Name the gland that functions as a circadian rhythm (biological clock) in our body.
Where is it located ? Name its secretion.
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19fey - 4 / SECTION -4

GO : TSI e EnsEh eflaLwallEsa|b. 2x5=10

Note : Answer all the questions.

20. (=) eriGgedlwibd erammmed eremen ? 2ger LeGeum auaGSailer LIaTLSeneTs

&(IHS.
9|606VF)

(=) @® BUT GODHS @rss DysssHamsd Ayt CaefGLDD (PrwLmod
SO Spri. grem ? Qb 5l ena ufled c%la;rﬂmr(@ﬂéé.@éﬁ@&@ﬁ@
sPleyuQurmlsemer WAEAsGES b eréseuesTer smsas UG T
Qelieumis ? igamar edleauflésalL.

(a) Whatis an epithelium? Enumerate the characteristic features of different epithelia.

OR

very low blood pressure and passing no urine. Why ?

(b) A person is suffering from
u offer for the removal of waste products from the

What suggestion would yo
blood in such a situation and explain.

“griGarlur seameulen oeoliy bHMD QFwd 0@ PEGD”
- QaaursAugos HLmULLOSSS.
S{60608)

aumTLUm&sa|D. Us, <0 DHHID ﬂ@mwuﬁleb
GLGurg

21. (<)

(=) Qewpans efBHICLLD -
Qaunas o ebgI LSSl Qeundl eSsb Gemeurs G)(HS
r&Qsmfled) HILLS®S LweTURESeumil HmID S g Hlenesener
oQeuflésalb. Ceupens g LSS HTaninGaneT 6T(pSis.

#Sarcomere is a structural and functional unit of muscle” - Justify this statement.

(a)
OR

ology is applied to cattle, sheep and

low even after artificial insemination

f artificial insemination.

(b) Define Artificial insemination. What techn
buffaloes when the success rate of crossing is
‘and explain its steps ? Write the advantages o

-000-
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